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DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

» All questions are compulsory.

» Read the instructions on the ANSWER SHEET and fill in your NAME, CLASS and
OTHER INFORMATION.

» To mark your choice of answer by darkening the circles in the ANSWER SHEET,
use an HB PENCIL only.

» You MUST record your answers on the ANSWER SHEET only.

» There are 30 MULTIPLE CHOICE QUESTIONS. Use the information provided to
choose the BEST possible answer among the four options. On your ANSWER SHEET
fill in the circle that matches your answer.

» Marks are NOT deducted for incorrect answers.
» Return the ANSWER SHEET to the invigilator at the end of the examination.

> You are NOT allowed to use a calculator. You may use a ruler and spare paper for

rough work.
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This question paper contains a total of 30 questions divided into three sections - A, B and C.

1. Choose the right option that shows the correct number of figures
having four sides. R ))&\ Q

(A) 4

(C) 2

/ Section A (Logical Reasoning) /

7],
0) 5 ﬁ@ U

2. One term in the given number pattern is WRONG. Find the WRONG term.
24, 27, 31, 33, 36, 39, 42

(A) 24
(C) 27

P
R

Q

S

(B) 31
(D) 33

The teacher rotates the wheel, which alphabet is most likely to come?

(A) P
(C) R

(B) Q
(D) S

4. Which letter is 8" to the right of 4™ |etter from the left end?
ABCDEFGHIJKLMNOPAOQ

(A) )
(C) L

(B) K
(D) M

5. Arrange the blocks given below from the heaviest to the lightest.

(A) RS QR
(C) R,Q,PS

(B) S,P,Q,R
(D) S,PR, Q
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10.

11.

12.

/ Section B (Subject Specific) /

A shopkeeper earns X150 an hour. How much will he earn in a day if he works for 7 hours?
(A) %1050 (B) %1020

(C) X900 (D) %750

Choose the correct sign.

(A) >
(C) = (D) None of these

There are 24 children in the class this year. There were 12 more children in the class last
year. How many children were there in the class last year?

(A) 30 (B) 12
(C) 24 (D) 36

Arrange the given sums in increasing order.

240 + 3

| 35

(A)

Rashmi has five more pencils than Divya. Divya has 6 pencils. How many pencils does
Rashmi have?

(A) 10 (B) 8

(C) 15 (D) 11

The difference between the place value of 9 in 595 and the place value of 5 in 352 is
(A) 5tens (B) 9 tens

(C) 8tens (D) 4 tens

Raman is putting books in his bookcase. He has already put 74 books in the case. But
he has 220 books. How many more books does he have to put in the bookcase?

(A) 180 (B) 146
(C) 170 (D) 172
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13. Match the following:

Column | Column Il
0 (oxi0 ¥
UM grrn”

(A) a—iii, b—iv, c—i, d—ii (B) a—iv, b—i, c—iii, d—ii
(C) a-iv, b—iii, c—ii, d—i (D) a-iv, b—iii, c—i, d—ii

14. Which one of the following abacuses shows the number less than 40007

15. How many bananas will each child get if the bananas given below are equally divided

among 6 children? %§%% %%
| S S S
PSS =

(A) 12 (B) 3
(C) 24 (D) 6




16.

17.

Consider the following two statements:
Statement 1: A line segment has only one end point.
Statement 2: A line does not have a fixed length.

Which one of the following options is correct for the above statements?
(A) Statement 1 is true and 2 is false. (B) Statement 2 is true and 1 is false.

(C) Both the Statements 1 and 2 are true. (D) Both the Statements 1 and 2 are false.

) Library Food Centre Home
Kamla cycled from the library to the food centre A
and then to her home. How far did she cycle igi
altogether?
(A) 185 m (B) 171 m
(C) 191 m (D) 181 m

18. Which of the following statements is correct for 234?

19.

20.

(A) Number 234 has 3 hundreds, 2 tens, 4 ones.
(B) In number 234, place value of 2 is 20.

(C) Number 234 has 2 tens, 3 ones.

(D) Number 234 has 2 hundreds, 3 tens, 4 ones.

Clocks show the timings during which John cycled to his grandmother’s house. How long
did he take?

Rea\t\fhwi'ﬁéfﬁime
(A) 1 hour 30 minutes (B) 30 minutes
(C) 1 hour (D) 1 hour 15 minutes

Rani has two 10 coins, one 35 coin, two 2 coins and one X1 coin. Which of the following
items can Rani buy from this money?

§ =

Scissors Glue Ruler Pen Notebook
Z75 T 22 Z5 T 40 Z8
(A) Notebook and Glue (B) Glue and Scissors

(C) Notebook and Pen (D) Pen and Ruler




21.

22.

23.

24,

25.

26.
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Gargi had %115. Her mother gave her X85 more. How much money does Gargi have now?
(A) 210 (B) %190
(C) X250 (D) %200

If the total weight of the apples shown below is 984 grams, then the weight of 5 such
apples will be:

00006066

(A) 610 grams (B) 615 grams
(C) 620 grams (D) 624 grams
The given figure has faces and vertices.
(A) 5,5 (B) 5,4

(C) 4,5 (D) 4,4

Rohit is the captain of the Indian Cricket Team. He made 67 runs on first day of a test
match and on the second day he made 108 runs more. Identify the digit which is present
on the ones place of Rohit’s total score after two days.

(A) 8 (B) 7
(C) 5 (D) 1

: 48 ﬁ -

A ﬁ fjjjj’fiiiﬂ CIEN
© ® 0
/ Section C (Competency Enhancement) /

Read the mathematical facts given below. Which of the following statements is factually
correct?

(A) The odd numbers are the numbers that have 1, 3, 5, 7, 9, 0 in the ones place.

(B) Addition of two even numbers is an even number.

(C) Addition of one even number and one odd number is even.

(D) 100 is an odd number.
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27. You got 98 marks out of 100 in your mathematics paper. When you saw your answer
sheet, you noticed that your teacher made a mistake in counting and gave you 9 extra
marks against actual 89. What would you do in such a situation?

(A) I will make fun of the teacher among my friends.
(B) 1 will be happy to get extra marks.
(C) I'will tell the teacher about the mistake.

(D) 1 will sit quietly in the class.

28.
6cm

B

C|D|3cm

<~ 21lcm— >

The given figure is made up of 4 squares. Find the perimeter of the figure.

(A) 57 cm (B) 54 cm
(C) 60 cm (D) 51 cm
29. Neetu has three number cards as shown. She made two numbers
P and Q using these digits. If P is the largest 3 digit number and 4 J 0
Q is the smallest 3 digit number, P + Q equals
(A) 909 (B) 585
(C) 945 (D) 990

30. Read the pictograph and answer the foIIowing question'
Comic
Atlas

Children books

Horror

One represents 3 books.

How many comic books are there in the given data?
(A) 18 (B) 12

(C) 15 (D) 8







